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KENDRIYA VIDYALAYA CHENNAI REGION
SUBJECT: ENGLISH LANGUAGE & LITERATURE
SAMPLE QUESTION PAPER (TERM 1)

CLASS -IX

Time: 90 Minutes Max. Marks 40

General Instructions:

1.
2.

o

The Question Paper contains THREE sections.

Section A-READING has 18 questions.  Attempt a total of 14 questions, as
per specific instructions for each question.

Section B-WRITING & GRAMMAR has 12 questions. Attempt a total of 10
guestions, as per specific instructions for each question.

Section C-LITERATURE has 30 questions. Attempt 26 questions, as per
specific instructions for each question.

All questions carry equal marks.

There is no negative marking.

I. Read the passage given below.

(1) Have you ever failed at something so miserably that the thought of attempting
to do it again was the last thing on your mind?

(2) If your answer is yes, then you should understand that you are not a robot.
Unlike robots, we human beings have feelings, emotions, and dreams. We are all
meant to grow despite our circumstances and limitations. Flourishing and trying to
make our dreams come true feels great when life goes our way. But what happens
when it does not? What happens when you fail despite all your hard work? Do you
stay down and accept defeat or do you get up again? If you tend to persevere and
keep going, you have what experts call ‘grit’.

3) Falling down or failing is one of the most agonising, embarrassing, and scary
human experiences. But it is also one of the most educational, empowering, and
essential parts of living a successful and fulfilling life. Did you know that
perseverance (grit) is one of the seven qualities that has been described as the key
to personal success and betterment in society? The other six are curiosity, gratitude,
optimism, self-control, social intelligence, and zest. Thomas Edison is an example
of grit for trying more than 1,000 times to invent the light bulb. If you are reading
this with the lights on in your room, you will realise the importance of his success.
When asked why he kept going despite hundreds of failures, he merely stated that
they had not been failures, they were hundreds of attempts towards creating the



light bulb. This statement not only revealed his grit but also his optimism for
looking at the bright side.

(4) Grit can be learnt to help you become more successful. One of the techniques
that help is mindfulness. Mindfulness is a practice that makes an individual stay at
the moment by bringing awareness of his or her experience without judgement.
This practice has been used to quieten the noise of fears and doubts. Through this
simple practice of mindfulness, individuals have the ability to stop the self-
sabotaging downward spiral of hopelessness, despair, and frustration.

5) What did you do to overcome the negative and self-sabotaging feelings of
failure? Reflect on what you did, and try to use those same powerful resources to
help you today.

Based on your understanding of the passage, answer any eight out of the ten
questions by choosing the correct option.

Q.1 The reason why you are not a robot is that:

(@) You fail miserably at tasks

(b)Failure and success can affect your emotions
(¢) You work hard

(d)You have limitations

Q.2 What is the tone of the following context: “Falling down or failing is one of the
most... educational, empowering, and essential parts of living a successful and
fulfilling life.”?

(a)Humorous
(b) Optimistic
(c) Horrifying
(d) Solemn

Q3. was created after many attempts.
(a)electricity
(b)light bulb
(c)current
(d)tube light

Q.4 Which of the following sentences makes the correct use of “grit”, as used in the
passage?
(a) Get rid of that grit in your shoes.
(b)She had a bit of grit in her eye.
(c) The road had been covered with grit.
(d)Her grit never made her give up.

Q.5 To develop perseverance, one must:
(a)become more aware
(b)work hard
(c)be in the moment and be aware without judgement
(d)seek guidance



Q.6) How does mindfulness help?
(a) It creates awareness
(b)1t quietens the noise of fears and doubts
(c) It helps one become successful
(d)1t helps develop focus

Q.7.What do you understand from this line, “Falling down or failing is one of the most
agonizing, embarrassing, and scary human experiences.”?
(a)Falling down makes us angry.

(b)Failure can deeply affect our emotions
(c)Stay positive and be optimistic
(d)Self-control is empowering

Q.8 Choose the option that correctly states the meaning of ‘social intelligence’ as
implied in the passage:
(a) Knowing others
(b)Knowing oneself and others
(c)Knowing oneself
(d)Knowing one’s surroundings

Q.9. The importance of perseverance and optimism for a successful and fulfilling life is
explained using the example of?
(a) Thomas Edison
(b)Flourishing
(c)Grit
(d)Limitations

Q.10 What is the message conveyed in the last paragraph of the passage?
(a) Always aim for the best
(b)Live life king size
(c) Through mindfulness we can overcome the negative impact of failure
(d)Social intelligence is crucial for a successful life

11 .Read the passage given below.

The choices we make on a daily basis—wearing a seatbelt, lifting heavy objects
correctly or purposely staying out of any dangerous situation—can either ensure
our safety or bring about potentially harmful circumstances.

You and | need to make a decision that we are going to get our lives in order.
Exercising self-control, self-discipline and establishing boundaries and borders in
our lives are some of the most important things we can do. A life without discipline
is one that’s filled with carelessness.

We can think it’s kind of exciting to live life on the edge. We like the image of
“Yeah! That’s me! Living on the edge! Woo-hoo!” It’s become a popular way to



look at life. But if you see, even highways have lines, which provide margins for
our safety while we’re driving. If we go over one side, we’ll go into the ditch. If we
cross over the line in the middle, we could get killed. And we like those lines
because they help to keep us safe. Sometimes we don’t even realize how lines help
to keep us safe.

I’m not proud of this, but for the first 20 years of my life at work, I ignored my
limits. I felt horrible, physically, most of the time. I used to tell myself “I know I
have limits and that I’ve reached them, but I’'m going to ignore them and see if or
how long I can get by with it.” I ran to doctors, trying to make myself feel better
through pills, vitamins, natural stuff and anything I could get my hands on. Some of
the doctors would tell me, “It’s just stress.” That just made me mad. I thought stress
meant you don’t like what you do or can’t handle life, and I love what I do. But I
kept pushing myself, travelling, doing speaking engagements and so on— simply
exhausting myself.

Finally, I understood | was living an unsustainable life and needed to make some
changes in my outlook and lifestyle.

You and I don’t have to be like everyone else or keep up with anyone else. Each of
us needs to be exactly the way we are, and we don’t have to apologize for it. We’re
not all alike and we need to find a comfort zone in which we can enjoy our lives
instead of making ourselves sick with an overload of stress and pressure.

On the basis of understanding of the passage, answer ANY SIX out of the
eight questions by choosing the correct option

Q11) The reason why living on the edge has become popular, is because of the
(a) constant need for something different.
(b)population being much younger.
(c) exhausting effort to make changes.
(d)strong tendency to stay within our limits.

Q12.) The phrase “potentially harmful circumstances” refers to circumstances that can
(a) certainly be dangerous.
(b)be fairly dangerous.
(c) be possibly dangerous.
(d)seldom be dangerous.

Q13.) Choose the option that best captures the central idea of the passage from the
given quotes.

1. It’s all about quality of life and finding a happy balance between work and
friends.

2. To go beyond is as wrong as to fall short.

3. Life is like riding a bicycle. To keep your balance you must keep moving.

4. Balance is not something you find, it’s something you create.



(a) Option (1)
(b) Option (2)
(c) Option (3)
(d) Option (4)

Q14) The author explains the importance of discipline and boundaries in our lives using
the example of
(a) road accidents.
(b) traffic rules.
(c) lines on the highway.
(d) safe driving.

Q 15) The author attempts to the readers through this write-up.

(@) rebuke

(b) question

(c) offer aid to
(d) offer advice to

Q 16) What is the message conveyed in the last paragraph of the passage?

(a) Love what you do.

(b)Love yourself to love others.
(c)Be the best version of yourself.
(d)Be yourself

Q17) Which of the following will be the most appropriate title for the passage?

(@) Much too soon

(b) Enough is enough

(c) How much is too much?
(d) Have enough to do?

Q18) The author uses colloquial words such as “yeah” and “Woo-hoo!”. Which of the
following is NOT a colloquial word?

(a)hooked
(b)guy

(c)stuff
(d)stress
GRAMMAR AND WRITING
GRAMMAR

1L ANSWER ANY FIVE out of the six questions by selecting the most appropriate
option for each



Q.19. You -------------- obey your parents.

(a)should
(b)ought to
(c)must
(d)need to

Q.20. We bought ---------------------- books.
(@)much
(b)more
(c)Any
(d)many
Q.21. This---------- an easy quiz so far.
(a) has been
(b)had been
(c)was
(d)will have been
Q. 22. Which option displays the correct change of the following to reported
speech? | asked the shopkeeper, “What is the price of the bike”?
(a) 1 asked the shopkeeper that what the price of this bike was.
(b)1 asked the shopkeeper what is the price of this bike.
(c) 1 asked the shopkeeper what was the price of that bike
(d)1 asked the shopkeeper what the price of that bike was

Q.23.Which option displays the correct change of the following to reported speech?
Nupur says, “I go fora walk every morning”
(a) Nupur says that she goes for a walk every morning.
(b)Nupur said that she goes for a walk every morning.
(c)Nupur says that I go for a walk every morning.
(d)Nupur said that she went for a walk every morning.

Q.24. | -=--=-mmmmmme- her for a long time.
(@) know
(b)have known
(c)have been knowing
(d)knew

IV. ANSWER ANY FIVE OUT OF THE SIX QUESTIONS GIVEN WITH
REFERENCE TO THE CONTEXT BELOW.

Your houses are not safe. Thefts are on the increase. Even properly locked houses are
being plundered. Choose the most appropriate option to complete the letter you have
written to the Deputy Commissioner of Police for increasing patrolling at night in your
locality. You are Sumit Mittal residing at B/24, Shyam Nagar, Gurgaon

B/24, Shyam Nagar Gurgaon

26th August ,2021

The Deputy Commissioner of Police Gurgaon



Subject:

() e ettt et e
Sir

(D) e Ours has become a theft prone
area.

() T and they are being plundered. A day

before yesterday burglars broke open the door of the house of my uncle and ran away
with a huge booty. The police station is at a distance of 3 km from our locality. Fifteen
days ago, that some unknown persons had entered a house and (d)-------------------------
-but the authorities reached very late and by that time the thieves had fled from the
scene rendering the owner almost a pauper. (€) ------------=-==-=-=-=-------- and increase
the hours of patrolling also. Moreover, | request you to call a meeting of the area
residents and make them understand the necessity of appointing day and night guards
by the RWA. Your prompt action would certainly help in reducing thefts.

Yours faithfully
Sumit Mittal
Q.25. Suggest a suitable subject for this letter.

(a) Thefts are on the increase

(b) Increasing threat of theft in Shyam Nagar.

(c) necessity of appointing day and night guards by the RWA.
(d) to call a meeting of the area residents

Q.26. Choose the most suitable sentence to begin the body of the letter.

(a) I'wish you draw our attention to the increasing number of theft in our
locality.

(b) I will draw your attention for increasing thefts in our locality.

(c) I'wish to draw your attention to the increasing number of thefts in our
locality.

(d) I wish the thieves to draw our attention to the increasing number of
theft.

Q.27 .- and they are being plundered.

Complete it.
(a) Even properly locked houses are not safe
(b) Though properly locked houses are not safe

(c) As properly locked houses are safe
(d) Properly locked houses are safe



Q.28. that some unknown persons had entered a house and -------------=--=--------

(a) aresidence will inform the police
(b) a resident is informing the police
(c) aresident has informed the police
(d) aresident did inform the police

Q.29 and increase the hours of patrolling also.

(a) We requested you to depute more policemen for patrolling

(b) We request you to depute more policemen for patrolling

(c) We have requested you to depute more policeman for patrolling
(d) We request you to be deputed for patrolling

Q.30.Closing of the letter

(@) Yours faithful
(b) yours obediently
(c) Yours faithfully
(d) Your sincerely

LITERATURE

This section has sub-sections -V, VI, VII, VIII & IX. There are a total of 30
questions in this section. Attempt any 26 questions from the sub-sections V to IX.

V. Read the given extract to attempt the questions that follow:

‘Gee’, said Tommy, “what a waste. When you’re through with the book, you just
throw it away, | guess. Our television screen must have had a million books on it and
it’s good for plenty more. I wouldn’t throw it away.”“Same with mine”, said Margie.
She was eleven and hadn’t seen as many telebooks as Tommy had. He was thirteen.

She said “Where did you find it?”

“In my house.” He pointed without looking because he was busy reading. “In the
attic.”

“What’s it about?*“School.”
Q.31. Tommy calls this old book a waste because

(a)it could not be stored

(b) it was costly

(c) pages could not be turned
(d) did not teach anything



Q.32. The old book was about

(a)movies
(b) paintings
(c) school
(d) house

Q.33. Which word in the passage is antonym of ‘less’?

(@) Million
(b) Slight
(c) Plenty of
(d) Deficient

Q.34. What is a telebook?

(a) It is made of pages
(b) Full of printed words
(c) Book on screen

(d) Book on cartoons

Q.35. How long ago were the old schools around?

(@) Centuries ago

(b) Fifty years ago

(c) Thousands of years ago
(d) Ten years ago

VI .He chose a pipe with a natural hollow stem that was longer and broader than the
pungi, and made seven holes on the body of the pipe. When he played on it, closing
and opening some of these holes, soft and melodious sounds were produced. He played
the instrument before royalty and everyone was impressed.

Q.36. How many holes were on the body of the pipe ?

(a) eight
(b) seven
(c) six
(d) ten

Q.37. what is the name of the new instrument

(@) Shehnai
(b) Pungi
(c) Sitar
(d) Guitar



Q.38. Why was Pungi banned from the court of Aurangzeb?
(a) it was inauspicious
(b) it was not looking good
(c) it had a very unpleasant sound
(d) it caused deafness
Q.39.Where was the new instrument played traditionally?
(@) intemples
(b) in wedding ceremonies
(c) in auspicious ceremonies
(d) all of the above
Q.40. From where did the new instrument get its name?
a) by combining the words of “king”(shah) and “ Nai”
b) it was named by barber

c) A king gave its name

d) it was named by a writer

VIl "Two roads diverged in a yellow wood,

And sorry I could not travel both

And be one traveller, long | stood

And looked down one as far as | could

To where it bent in the undergrowth;

Q.41 What is the dilemma of the poet?

(a)whether he will be able to come back to the second road or not
(b)whether he will get time for himself

(c)whether he will be successful

(d)whether he will be able to walk

Q.42 What does the poet’s decision of taking less travelled road signify?

(a)poet’s risk taking habit
(b)arrogance of the poet
(c)poet’s curiosity
(d)poet’s negligence



Q.43 What does the choice of road signify?
(a) too many things

(b) too many paths

(c) toughness of choice and decision in life

(d) none.

Q.44. Where does the poet find himself?

(@) on the road

(b) on a bus

(c) on a muddy road
(d) on a fork of a road

Q.45 What does the Poet’s long stare at the path signify?

(a) the time taken by people to decide and making a choice
(b) poet loves nature

(c) idling away of time

(d) relaxation hours

VIl HIGH above the city, on a tall column, stood the statue of the Happy Prince. He
was gilded all over with thin leaves of fine gold, for eyes he had two bright sapphires,
and a large red ruby glowed on his sword hilt. One night there flew over the city a little
swallow. His friends had gone away to Egypt six weeks before, but he had stayed
behind; then he decided to go to Egypt too. All day long he flew, and at night time he
arrived at the city. “Where shall I put up?” he said. “I hope the town has made
preparations.” Then he saw the statue on the tall column. “I will put up there,” he cried.
“It is a fine position with plenty of fresh air.” So he alighted just between the feet of
the Happy Prince.

Q.46 Why was the Prince called as the Happy Prince ?

(@) because he never cried

(b) because he was very lucky

(c) because he had everything

(d) because he always smiled and was living in palace of happiness

Q.47. What was done after the prince’s death?

(@) His statue was kept in the square
(b) he was forgotten

(c) people cried

(d) people became corrupt



Q.48. Why did the swallow decide to stay with the Happy Prince always?

(a) Because the Happy Prince had a lot of gold.

(b) Because the Happy Prince had given away his sapphires for the poor.
(c) Because the Happy Prince looked very sad now.

(d) Because the Happy Prince had become blind.

Q.49 Which country does the river Nile belong to?

(a) England
(b) India
(c) South Africa
(d) Egypt
Q.50 When the Happy Prince was alive; he did not know what was.

(a) joys

(b) amusements
(c) sorrow

(d) blessings

Q.51. Where did Bismillah play the Shehnai on 15th August 1947?

(a)at Ganga Ghat
(b)in Banaras
(c)Red Fort
(d)at Kaashi

Q.52. Why does the grandmother ask the little girl to make a present for her father?

(a)his birthday was approaching the next week
(b)he was going on a tour

(c)his anniversary was coming

(d)he was going to retire

Q.53.What does this lesson “A Truly Beautiful Mind” speak about?
(a) Beauty of the mind
(b) Beauty of the world
(c) The life of Einstein
(d) None

Q.54. Which destruction is referred in the lesson?
(@) destruction of inventions
(b)destruction by authoritarians
(c) destruction caused by atom bombs at Hiroshima and Nagasaki
(d) destruction caused by nature



Q.55.Why was Toto kept secretly?
(@) to save from other animals
(b) because grandmother disliked animals
(c) because he was naughty
(d) None

Q.56.Why is the poet asking us to be wise while choosing a pathway?
(a) because there is no going back option
(b) Because it is the only one road
(c) because it is one sided road
(d) None
Q.57. What is the effect of the wind on strong fires?
(@) makes them roar and flourish
(b) blows them out as usual
(c) let them burn
(d) all the options are correct
Q.58. What does the poet listen in the poem “Rain on the roof” ?
(@) the sweet music of insects
(b) sweet music of piano
(c) the sweet music of raindrops
(d) all the options are incorrect
Q.59. Which bird did the Saint Peter ‘s curse change the woman into?
(a)a sparrow
(b)a crow
(c)a parrot

(d)a woodpecker

Q.60.Why did grandfather take Toto along with him at Saharanpur?
(a)because he missed him
(b)no one was at home
(c) to save other animals

(d)because he was mischievous, so to give relief to other animals






ENGLISH LANGUAGE & LITERATURE (184)
MARKING SCHEME
CLASS-IX Term 1
MM-40
I. (any 8)
Q.1(b) Failure and success can affect your emotions
Q.2(b) Optimistic
Q.3(b) light bulb
Q.4(d) Her grit never made her give up.
Q.5.(c) be in the moment and be aware without judgement
Q.6.(b) It quietens the noise of fears and doubts
Q.7.(b) Failure can deeply affect our emotions
Q.8.(b) Knowing oneself and others
Q.9.(a) Thomas Edison
Q.10.(c) Through mindfulness we can overcome the negative impact of failure
1. (any 6)
Q.11. a) constant need for something different
Q.12. (c) be possibly dangerous.
Q13. d) Option (4)
Q14. c) lines on the highway.
Q15. d) offer advice to
Q 16. d) Be yourself
Q17. ¢) How much is too much?

Q18. d) stress



I11. (any 5)

19.b. ought to

20 d. many

21. a has been

22.d. | asked the shopkeeper what the price of that bike was
23. a. Nupur says that she goes for a walk every morning.
24.b. have known

IV. (any 5)

Q.25. (b) Increasing threat of theft in Shyam Nagar

Q.26. (c)I wish to draw your attention to the increasing number of thefts in our locality.
Q.27. (a) Even properly locked houses are not safe

Q.28. (c) a resident has informed the police

Q.29. (b) We request you to depute more policemen for patrolling
Q.30. (C) Yours faithfully

V.Q.31. a) it could not be stored

Q.32. ¢) school

Q.33.(c) plenty of

Q.34 (c) Book on screen

Q.35.(a) Centuries ago

VI. (any 4)
Q.36. b) seven

Q.37.b) pungi
Q.38.¢) it had a very unpleasant sound
Q.39.d) all of the above

Q.40. a) by combining the words of “king” (shah) and *“ Nai”



VII. (any 4)

Q.41. (a) whether he will be able to come back to the second road or not
Q.42.(a) poet’s risk-taking habit

Q.43.(c) toughness of a choice and decision in life

Q.44.(d) on a fork of a road

Q.45.(a) the time taken by people to decide and making a choice

VIII. (any 4)

Q.46. d) because he always smiled and was living in palace of happiness
Q.47.a) His statue was kept in the square

Q.48. (d) Because the Happy Prince had become blind.

Q.49. (d) Egypt

Q.50.(c) sorrow

IX. (all 10)

Q.51. c¢) Red Fort

Q.52. a) his birthday was approaching the next week

Q.53. ¢) The life of Einstein

Q.54. (c) destruction caused by atom bombs at Hiroshima and Nagasaki
Q.55. b) because grandmother disliked animals

Q.56. a) because there is no going back option

Q.57. a) makes them roar and flourish

Q.58. (c) the sweet music of raindrops

Q.59. d) a woodpecker

Q.60. d) because he was mischievous, so to give relief to other animals.

NOTE FOR THE TEACHERS

1.QUESTION NO. IV (WRITING) -LETTER/SHORT STORY COULD

BE GIVEN
2. EACH QUESTION CARRIES 0.8 MARKS (50*0.8=40)

TOTAL 40 MARKS.






BLUE PRINT OF CLASS IX MATHEMATICS FOR TERM -1 (2021-22)

SECTION DOMAIN OF THE QUESTION TOTAL NO NO OF MARKS TOTAL
OF QUESTIONS PER MARKS
QUESTIONS TO BE QUESTION
ATTEMPTED
A KNOWLEDGE & 20 16 1 16
UNDERSTANDING
B APPLICATION & OTHER HOTS | 20 16 1 16
C CASE BASED QUESTIONS 10 8 1 8
TOTAL 50 40 40
UNIT WISE MARK DISTRIBUTION
S.NO CHAPTER NAME MARKS
1 NUMBER SYSTEM 8
2 COORDINATE GEOMETRY 4
3 LINEAR EQUATIONS IN TWO 5
VARIABLES
4 LINES & ANGLES, TRIANGLES 13
5 HERON’S FORMULAE 4
6 STATISTICS 6
TOTAL 40







SAMPLE QUESTION PAPER
CLASS IX SESSION 2021-22
TERM-1
MATHEMATICS

Time Allowed: 90mts Maximum Marks:40
General Instructions

1.
2.

3.

The Question Paper Contains three parts A,B and C.

Section A consists of 20 Questions of 1 Mark each. Attempt any 16
guestions.

Section B consists of 20 Questions of 1 Mark each. Attempt any 16
questions.

Section C consists of 10 Questions of 1 Mark each based on two Case
Studies. Attempt any 8 questions.

There is no negative marking

ON.NO

SECTION A

MARK

Every rational number is
(@) a natural number  (b) an integer
(c) areal number (d) awhole number

Which of the following is irrational?
(a) 0.14 (b) 0.1416
(c) 0.1416 (d) 0.4014001400014...

Decimal representation of a rational number cannot be
(a)terminating
(b) non-terminating
(c) non-terminating repeating
(d) non-terminating non-repeating

The product of any two irrational numbers is
(a) always an irrational number
(b)always a rational numbers
(c)always an integer
(d)sometimes rational, sometimes irrational

2v/3 4+ /3 is equal to -
(a) 2V6 (b) 6 (c) 3v/3 (d) 4v/6

Point (-3, —2) lies in the quadrant:
@1 (b) 1l (c)m (d) Iv




Signs of the abscissa and ordinate of a point in the second
quadrant are respectively: (a) + + (b) —, + (c) +,
- (d)--

The point whose ordinate is 4
and which lies on y — axis is
:(a) (4,0) (b) (0, 4) (c) (1, 4) (d) (4,2)

In graphical representation of y =—4, line is:
(@) parallel to x — axis (b) parallel to y — axis
(c) passes through origin (d) None of these.

10

The linear equation 2x — 5y = 7 has
(a) unique solution (b) two solutions
(c) infinitely many solutions (d) no solutions.

11

If a ray stands on a line then the sum of the
adjacent angles so formed is

(a) 100°  (b) 180° c) 90° (d)360°

12

If two straight lines intersect each other in such a way that one of the
angles so formed measure90°, then each of the remaining angles
measures is

(a) 50° (b) 75° c) 90° (d) 60°

13

In fig. POQis aline, <POR =4xand
<QOR = 2x then thevalue of x is

(a) 30° (b) 40° (c) 60° (d)15°

4x 2X

14

'O

In the figure x is <

A 50° B
(a) 40° (b) 50°

c) 127° d) 53°

’ 127°

<C Q R r)>




15

By which congruence rule following triangles are congruent ?
(a) SAS (b) ASS (c) AAS (d) SSs

16 The sides opposite to two equal angles of a triangle are:
(@) notequal
(b) equal
(c) may becongruent
(d) not congruent
17

B

If AB & CD intersect at O if AAOC is congruentto ABOD

then ACis equal to

(a) BO (b)OD (c) BD (d) none of these

The length of each side of an equilateral triangle having an area of 9v3
cm?is

(a) 8cm (b) 6cm (c) 36 cm (d) 4 cm




19 A traffic signal board indicating ‘SCHOOL AHEAD’ is an equilateral
triangle with side a, thenarea of the traffic signal is:
a)ga (b)g a? (c)ga2 d) none of these
20 The range of the data 14, 27, 29, 61, 45, 15,9, 18 is
(@) 61 (b) 52 (c) 47 (d) 53
SECTION B
21 Thevalueof (vV5-2)(V5.2)is
(@) 3 (b) 23 (c) 1 (d) none of these
22 The value of (125)?3 is
(@) 5 (b)25 (c) 45 (d) 35
23 Which one of the following is different from others?
(a) V7 (b) V8 (c) V9
(d)v10
24 1
7 s
7 V7
@ % (- (7 (A7
25 In the given figure, on the sides the respective coordinates of points

P and Q respectively are:(a) (-2, -2), (1, 3) (b) (-2, -2), (-1, 3)

(C) (_21 2)1 (11 _3) (d) (_21 2)1 (11 3)
F
44
3t
P. ------ = -
: 1t
T T i 2 3 < 5
1+ E

_a}---ig
B i
v




26 The distance of the (4, 5) from x — axis is
(a) 3 units (b) -3 units (c) 4 units (d) 5 units
27 x=5, y=2 is a solution of the linear equation
(@) x+2y=7 (b)5x+2y=7 (c)x+y=7 (d)5x+y=7
28
In fig. the values of x and y are equal to:
(a) 130°  (b) 150° | c) 160° (d) 135°
50
< >
A X B
\
< >
c 13 \Q D
29

In fig., n—x=4°then values of xand n are:

(@) 103° (b)54° (c)104° (d) none of these

150°




30

In the adjoining figure, y = ?
(a) 36° (b) 54° (c) 63° (d) 72°

31
In the given figure, side BC of AABC has been produced to a point D. If ZA
=3y°, £B =x°, £C=5y° and £CBD = 7y°. Then, the value of x is
(a) 60 (b) 50 (c) 45 (d) 35
+—>
D
32

Side BC of AABC has been produced to D on left and to E on right hand side
of BC such that

ZABD =125° and ZACE =130°. Then zA = ?
(a) 50° (b) 55° (c) 65° (d) 75°

125° 130°

O-
v
~~

m-




33 In the below figure < BEA is
(a) 60° (b)50° (c) 70° (d) none of these
D
34
If PQ= DE, < R=<F, <PQR= <DEF, then the congruency rule is
(a) SSS (b) SAS (c) ASA (d) AAS
35 The area of the triangle whose sides are 42 cm, 34 cm and 20 cm in
length is
(a) 150 cm? (b) 336 cm? (c) 300cm?  (d) none of these
36 The semi perimeter of the triangle having side lengths 24cm, 12cm,10cm
(@) 23cm (b) 20cm  (c) 46cm (d) none of these
37 The base of an isosceles triangle is 24 cm and its area is 192 cm?, then its
perimeter is
(a) 64 cm (b) 65 cm (c) 68 cm (d) none of these
38 The length of altitude of a equilateral triangle of side a unit is
(a) ga (b)g a? (c) g a2 d) none of these
39

Class mark of class 150 — 160 is

(a) 150 (b) 160 (c) 155 (d) none of these.




40

The weekly wages (in Rs) of 30 workers in a factory are given below —

842, 885, 846, 821. 831, 852, 859, 824. 833, 895, 815, 862, 827, 835, 858,

818, 835, 824, 855,819, 877, 891, 826, 837, 857, 871, 828, 839, 875, 845

How many workers are receiving less than Rs 860 as weekly wages

(a) 23 workers (b) 24 workers (c) 25 workers (d) 26 workers

SECTION C
CASE _STUDY QUESTIONS

In the below given layout, the design and measurements has
been made such thatarea of two bedrooms and Kitchen together
is 95 sq. m.

A
M
e
W
]
M

. e
Cd -~

I Bath

Sm Bedroom 1 |yoom Kitchen

2m
1‘ Living Room

5m Bedroom 2

i

1 .

' 15m

41

The area of two bedrooms and kitchen arerespectively equal to
(a) 5x, 5y (b) 10x, 5y (c) 5x, 10y (d)x, y

42

Find the length of the outer boundary of the layout.
(a) 27 m (b) 15 m (c) 50 m (d)54 m




43

The pair of linear equation in twovariables formed from the statements
are
(Q)x+y=13,x+y=9 b)2x+y=13,x+y=9
(c)x+y=13,2x+y=9 d)None of the above

44

Which is the solution satisfying both theequations formed in Qn number 43?
(Q)x=7,y=6 (b)x=8,y=5 (c)x=6,y=7 (d)x=5,y=8

45

The area of each bed room is.
(a)30sqg.m (b)35 sq.m (c)65 sq.m(d)42 sgq.m

The Class teacher of Class X preparing result analysis of a
student. She compares the marks of a student obtained in
Class IX (2018-19) and Class X (2019-20) using the double bar
graph as shown below:

=]
—]
1

O 2018-19 [ 2019-20

=) 1
—] =
1 1
T T

n
—]
1
T

=
1
T

[ (73] o
=
1
T

Marks obtained by a student —
=)

ik

—J
1
T

A\ 4

Maths S. Science Science English Hindi
Subjects —

46

In which subject has the performance improved the most?

(a) Maths (b) Social Science (c) Science (d) English

47

hich subject has the performance deteriorated?

(a) Maths (b) Social Science (c) Science(d) English

48

which subject is the performanceat par?

(a) Hindi  (b) Maths (c) Science (d) English




49

What is the difference in Maths Subject?
(@5 (b)30 (c)o (d) 10

50

What is the percentage of marksobtained by a student in Class X (2019-20)?
(a) 60% (b) 55% (c) 54% (d) 65%
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KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION

CLASS IX-PRACTICE TEST -1 (BLUE PRINT)

SCIENCE
NO. Topic No.Of Questions Total No.Of Total No.Of Marks
Questions
Sec A Sec B SecC
1 e Is Matter Around Us | 4(1%) 3(2%) 4 11(3%) 9
Pure (11 x 0.8=8.8)
2 e The Fundamental 10(2*) | 10(1%*) 3(1%*) 23(4%) 18
Unit of Life (23 x0.8=18.4)
e Tissues
3 e Motion 6(1%) 7(1%) 3(1%) 16(3%) 13
e Force & Laws of (16 x0.8=12.8)
Motion
TOTAL 20(4*) | 20(4*) | 10(2%) 50(10%) 40
Note:

The * mark denotes the extra option questions




Kendriya Vidyalaya Sangathan, Chennai region
Practice Test — | Question paper
Class IX Science Max Marks: 40
Time — 90mts
General instructions
e The question paper contains three sections.
Section A has 24 questions. Attempt any 20 questions.
Section B has 24 questions. Attempt any 20 questions.
Section C has 12 questions. Attempt any 10 questions.
All questions carry equal marks. There is no negative marking.
The first attempted 20 questions in section A, B & 10 questions in section C
will be evaluated.

Section A (Answer any 20)
What is the name of the metal which exists in liquid state at room temperature?

(a) Sodium
(b) Potassium
(c) Mercury

(d) Bromine

When the liquid is spun rapidly, the denser particles are forced to the bottom and the lighter
particles stay at the top. This principle is used in:

(a) Centrifugation
(b) Fractional distillation
(c) Evaporation

(d) Tunneling

If we put camphor in an open container, its amount keeps on decreasing due to the
phenomenon of
(a) Evaporation
(b) Precipitation

(c) Condensation

(d) Sublimation




In tincture of iodine, find the solute and solvent?

(a) alcohol is the solute and iodine is the solvent
(b) iodine is the solute and alcohol is the solvent
(c) any component can be considered as solute or solvent

(d) tincture of iodine is not a solution

From the given v-t graph, it can be inferred that

f—

(a) At rest
(b) In uniform motion
(c) Moving with uniform acceleration

(d) In non-uniform motion

the

object

is

A particle is moving in a circular path of radius r.

The displacement after half a circle would be:

N,

A

(a) Zero (b) mr

(c) 2r (d) 2nr




Which of the following can sometimes be ‘zero’ for a moving body?
a. Displacement

b. Distance

c. (i) and (ii)

d. None of the above

The speed - time graph of a car is given here. Using the data in the graph calculate the total
distance covered by the car.

I
30 F

25

20 ‘n/ E

15 ./C/

speed (inm/s) 10
i

A G
H
o 10 20 30 40 30
time (ins) -
(@) 1250 m
(b) 875 m
(c) 1500 m

(d) 870 m




9. | Four cars A, B, C and D are moving on a levelled, straight road. Their distance time graphs
are shown in the figure below. Which of the following is the correct statement regarding the
motion of these cars?

oisancem|
Time (5) .
(a) Car A is faster than car D
(b) Car B is the slowest
(c) Car Cis faster than car D
(d) Car C is the slowest

10 | In a water-sugar solution
(a) water is solute and sugar is solvent
(b) water is solvent and sugar is solute
(c) water is solute and water is also solvent
(d) none of these

11 | Cell is the structural and functional unit of life. The word cell is derived from the Latin

word ‘cellula’ which means “a little room”. Can you name the scientist who coined the term
cell?

(a) Robert Hooke
(b) Anton Von Leeuwenhoek
(c) Robert Brown

(d) Ernst Haeckel




12 | Velocity versus time graph of a ball of mass 50 g rolling on a concrete floor is shown in the
figure below. What will be the frictional force of the floor on the ball?
10—
Velocity| m/fi)
f 80
r
B0
o
0
ﬂ |
2 i 13 8 1
Time{ 5} -
(@ 05N
(b) 50 N
(c)5N
(d)0.05N
13 | The inertia of a moving object depends on:

i. Mass of the object
ii. Momentum of the object
iii. Speed of the object

iv. Shape of the object

Choose the correct option:

(@) (i) and (ii)
(b) only (i)
(c) only (ii)

(d) (iii) and (iv)




14

Tissue is a group of similar kind of cells specialized to perform a particular function in the
body. Therefore presence of tissues in a multicellular organism ensures:

(a) Faster development
(b) Division of labour
(c) Higher reproductive potential

(d) Body strength

15

. Given below is a diagram showing the structure of a neuron tissue.

D

Neuron

Choose the correct labeling for the parts A, B, C, D and E.

(@) A—Nucleus; B — Cell body; C — Dendrite; D — Axon; E — Nerve ending.
(b) A — Nucleus; B — Dendrite; C — Cell body; D — Nerve ending; E — Axon.
(c) A—Nucleus; B— Axon; C — Cell body; D — Dendrite; E —Nerve ending.

(d) A — Nucleus; B — Dendrite; C — Cell body; D — Axon; E — Nerve ending




16

While doing work and running, you move your organs like hands, legs, etc. Which among
the following is correct?

(a) Smooth muscles contract and pull the ligament to move the bones
(b) Smooth muscles contract and pull the tendons to move the bones
(c) Skeletal muscles contract and pull the ligament to move the bones

(d) Skeletal muscles contract and pull the tendon to move the bones

17

In a test of biology a figure of smooth muscle labeled as A, B, C and D for different parts of
the muscles. Four students P, Q, R and S in a way to attempt the question named the four
parts as given below. But only one student could name all the four parts correctly.

Which of the following options is the answer written by that student?

(a) A — Intercalated disc; B — Sarcoplasm; C — Branched fibres; D — Nucleus
(b) A — Intercalated disc; B — Branched fibres; C — Sarcoplasm; D — Nucleus
(c) A — Branched fibres; B — Intercalated disc; C — Sarcoplasm; D — Nucleus

(d) A — Branched fibres; B — Sarcoplasm; C — Intercalated disc; D — Nucleus




18

Tiny pores are found on the surface of the leaves of plants. These pores are called stomata.
These stomata surrounded by the kidney shaped guard cells provide many vital functions to
the plants.

Thin outer wall

-Thick inner wall -

Nucleus —
—— Chloroplast -

Stoma open Stoma closed

Stomatal pores

Which of the following functions is not served by the stomata for the plants?

(a) Exchange of gases, particularly CO2 and O, with atmosphere

(b) Loss of water in the form of vapours during transpiration
(c) Helps to create pressure for the water to rise upward, by its process of transpiration

(d) Helps the leaves to carry out the process of photosynthesis

19

If the tip of the sugarcane plant is removed from the field, even then it keeps on growing in
length. It is due to the presence of:

(a) Cambium
(b) Apical meristem
(c) Lateral meristem

(d) Intercalary meristem




20

Endoplasmic reticulum one of the cell organelles, exists as a membranous network that
extends from outer membrane of nucleus to the plasma membrane making a connection
between them.

Rough endoplilasmic
reticuluarm

mMmooth endoplilasmiic reticuluamnm

Endoplasmic Reticulumrm:

Which of the following statements is not related to the endoplasmic reticulum?
(a) It behaves as transport channel for proteins between nucleus and cytoplasm.

(b) It transports materials between various regions in cytoplasm.

(c) It can be the site of energy generation.

(d) It can be the site of some biochemical activities of the cell.

21

The nucleus controls all the activities of the cell and acts as a site of DNA material and
protein synthesis. It is composed of some components which all together give the nucleus
its functionality. Here is shown a figure of nucleus with some of its components labeled as
A, B, C and D. can you name these components correctly?

Structure of Nucleus

(@) A — Nucleons; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm
(b) A — Nucleus; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm
(c) A —Nucleolus; B — Chromatin; C — Nuclear membrane; D — Nucleoplasm

(d) A — Nucleolus; B — Chromatin; C — Nuclear membrane; D — Nuclear wall




22 | You must have observed that a fruit when unripe is green but it becomes beautifully
coloured when ripe. According to you what is the reason behind this colour change.
(a) Chloroplasts change to chromoplasts
(b) Chromoplasts change to chromosomes
(c) Chloroplasts change to chromosomes
(d) Chromoplasts change to chloroplasts

23 | In a test, a teacher collected the answers written by four students as the definition of
osmosis as given below. Read carefully and select the correct one.
(a) Movement of water molecules from a region of higher concentration to a region of lower
concentration through a semipermeable membrane.
(b) Movement of solvent molecules from its higher concentration to lower concentration.
(c) Movement of solvent molecules from higher concentration to lower of solution through
a permeable membrane.
(d) Movement of solute molecules from lower concentration to higher concentration of
solution through a semipermeable membrane.

24 | Rahul’s mother was going to make pickle. For this she cut the vegetables into small pieces

and put them in the sun for few hours. Rahul was observing all her activities very curiously
and asked his mother if why she had put the salted vegetables in the sun. among the
following what might be the most appropriate answer for his question?

(a) So that the pickle may get extra flavour.

(b) So that the cut vegetables may absorb the vitamin d as a nutrient from the sun rays.

(c) So that the vegetables may lose all the water by diffusion and evaporation and become
dry.

(d) So that the salt may get evenly and properly absorbed by the vegetables.




Section B (Answer any 20)

In the following questions, Assertion and Reason put forward. Read the statements carefully
and choose the correct alternative from the following:

A) Both the Assertion and the Reason are correct and the Reason is the correct
explanation of the Assertion.

B) Both the Assertion and the Reason are correct but the Reason is not the correct
explanation of the Assertion.

C) Assertion is true, but the Reason is false.

D) The statement of the Assertion is false, but the Reason is true.

25 | ASSERTION: Silver bromide compound is made of silver and bromine elements.
REASON: Silver bromide is a pure substance.
26 | ASSERTION: Boiling point of seawater is more than 100° C.
REASON: Soluble impurities increase the boiling point of liquid.
27 | ASSERTION: Dust particle in air form aerosol.
REASON: Dust particles form dispersion medium and air is dispersed phase.
28 | ASSERTION: Brass is an alloy of Copper and Zinc.
REASON: Brass is a compound of Copper and Zinc.
29 | ASSERTION: Parenchyma cells help in storage of food.
REASON: Parenchyma cells are the main seats of photosynthesis.
30 | ASSERTION: Permanent tissue is composed of mature cells.
REASON: Meristematic tissue is a group of actively dividing cells.
31 | ASSERTION: Ciliated epithelium helps in movement of particles.
REASON: Cilia helps in movement.
32 | ASSERTION: Surface of skin is impervious to water.

REASON: Surface of skin is covered by stratified cuboidal epithelium.




33

ASSERTION: Specialization of cells is useful for organism.

REASON: It increases the operational efficiency of an organism.

34

ASSERTION — Displacement of an object maybe zero even if the distance covered is not
zero.

REASON — Displacement is the shortest distance between the initial and final position.

35

ASSERTION — The speedometer of a car measures the instantaneous speed of a car.
REASON - Average speed is equal to the total distance covered by an object divided by the

total time taken.

36

ASSERTION — When a firefly hits a bus, each of them exerts the same force.

REASON - Firefly has more mass as compared to the windshield.

37

Newton’s third law of motion explains the two forces namely ‘action’ and ‘reaction’
coming into action when the two bodies are in contact with each other. These two forces:

L B

»

(a) Always act on the same body
(b) Always act on the different bodies in opposite directions
(c) Have same magnitude and direction

(d) Acts on either body at normal to each other




38

In a rocket, a large volume of gases produced by the combustion of fuel is allowed to escape
through its tail nozzle in the downward direction with the tremendous speed and makes the
rocket to move upward.

Which principle is followed in this take off of the rocket?
(a) Moment of inertia

(b) Conservation of momentum

(c) Newton’s first law of motion

(d) Newton’s law of gravitation

39

Which of the following figures correctly represents uniform motion of a moving object?

(a) T b) T
g B

8 8

3 g

A A
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Time (s)—> Time (s)—>




Which one of the following graphs shows the object to be stationary?

40
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41 | Label the following diagram in correct order from the options given below.

—1

2

— 3
(a)Apical meristem, lateral meristem, intercalary meristem
(b)Lateral meristem, intercalary meristem,apical meristem
(c)Intercalary meristem,apical meristem,lateral meristem

(d)Apical meristem,intercalary meristem,lateral meristem




42

Which connective tissue join muscles to bones?
(@)Tendon
(b)Ligament
(c)Aerolar tissue

(d)Adipose tissue

43

The type of muscle shown in the diagram is likely to be found in the stomach.

Muscie fibras

(a)smooth muscle

(b)striated muscle

Mucleus

Sacroplasm

(c)cardiac muscle

(d)none of the above

44

Which type of permanent tissue helps in storing food in plants?
(a)Parenchyma
(b)Collenchyma
(c)Xylem

(d)Phloem

45

Which type of epithelium is illustrated in the given figure?

Basement  (@)Simple squamous epithelium

membrane

(b)stratified squamous epithelium

Flattened
cell

(c)cuboidal epithelium

(d)columnar epithelium




46

The surface of skin is composed of
(a)nervous tissue

(b)connective tissue

(c)muscle tissue

(d)epithelial tissue

47

Sol and gel are examples of

(a) Solid-solid colloids
(b) Sol is a solid-liquid colloid and gel is liquid solid colloid
(c) Sol is solid-solid colloid and gel is solid-liquid colloid

(d) Sol is a liquid-solid colloid and gel is a solid-liquid colloid

48

Paheli starts from her home and moves a distance of 4 km towards east. She then turns to
her right and covers a distance of 3 km to reach her school. Meanwhile her brother Bujo
takes a short and direct route to reach the school.

What is the difference between the displacements of Paheli and Bujo?
(@)0 km

(0)0.5 km

()1 km

(d)1.5 km




Section C - CASE STUDY BASED (Answer any 10)

C | Figure below shows a velocity-time graph for a car starting from rest. The graph has three
parts AB, BC and CD.
Y
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49 | Which part of graph shows motion with uniform velocity?
50 | Which part of graph shows motion with uniform acceleration?
51 | Which part of graph shows motion with uniform retardation?
52 | The slope of velocity-time graph for particle moving with uniform velocity is equal to

(a)final velocity.
(b)initial velocity.
(c) zero.

(d) none the above.




C | There are many changes which take place in our surroundings. Some of them physical
changes in which no new substance is formed. These changes are reversible. Chemical
changes lead to formation of new substance with new properties. It cannot be easily
reversed. Physical changes involve less energy whereas chemical changes involve more
energy. Formation of mixture mostly involves physical change whereas compound is
formed by chemical change.

53 | Which of the following is not a physical change?

(a)melting of wax
(b)heating of iron
(c)digestion of food
(d)evaporation of water

54 | Formation of water from hydrogen and oxygen in presence of electric spark in
(a)physical change
(b)chemical change
(c)botha &b
(d)mixture is formed

55 | Oxygen can be separated from liquid air by
(a)distillation
(b)fractional distillation
(c)steam distillation
(d)vacuum distillation

56 | When iron fillings are heated with sulphur powder

(a)mixture formed
(b)black compound formed
(c)physical change

(d)none of these




Leucoplasts are colorless plastids. They store starch, oil, proteins. Chromoplasts are colored
plastids. They contain pigments , eg -chloroplasts which contain green pigment present in

the plant cell. Chromoplast provide color to various flowers & fruits.

57

What is the function of leucoplasts?

(a) they store starch, oil, proteins

(b) they provide color for flowers and fruits
(c) they help in photosynthesis

(d)they give support to plants

58

Which plastid provide color to fruits & flowers?
(a)leucoplast

(b)chromoplast

(c)chloroplast

(d)proteinoplast

59

Which of the following statement is true?
(a)plastids are present in both plant & animal cell.
(b)plastids are absent in plant as well as animal cell
(c)plastids are present only in plant cell

(d)plastids are present only in animal cell

60

Which plastids contain green pigment?
(a)leucoplast

(b)chloroplast

(c)chromoplast

(d)none of the above




KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION
CLASS IX - PRACTICE TEST -1 (SCORING KEY)
SCIENCE

Note: Each answer carries 0.8 marks

S.NO. OPTIONS / ANSWERS

1 c) Mercury

2 a) Centrifugation

3 d) Sublimation

4 b) iodine is the solute and alcohol is the solvent

5 b) in uniform motion

6 c 2r

7 a) Displacement

8 b) 875m

9 b) Car B is the slowest

10 b) water is solvent and sugar is solute

11 a) Robert Hooke

12 a)0.5N

13 b) only (i)

14 b) Division of labour

15 d) A — Nucleus; B — Dendrite; C — Cell body; D — Axon; E — Nerve ending
16 d) Skeletal muscles contract and pull the tendon to move the bones

17 b) A — Intercalated disc; B — Branched fibres; C — Sarcoplasm; D — Nucleus
18 d) Helps the leaves to carry out the process of photosynthesis.

19 d) Intercalary meristem

20 c) It can be the site of energy generation

21 d) A — Nucleolus; B — Chromatin; C — Nuclear membrane; D — Nuclear wall
22 a) Chloroplasts change to chromoplasts




23 a) Movement of water molecules from a region of higher concentration to a region of
lower concentration through a semipermeable membrane

24 ¢) So that the vegetables may lose all the water by diffusion and evaporation and become
dry.

25 b)Both the Assertion and the Reason are correct but the Reason is not the correct
explanation of the Assertion

26 c) Assertion is true, but the Reason is false.

27 a) Both the Assertion and the Reason are correct and the Reason is the correct
explanation of the Assertion

28 c) Assertion is true, but the Reason is false

29 b)Both the Assertion and the Reason are correct but the Reason is not the correct
explanation of the Assertion

30 b)Both the Assertion and the Reason are correct but the Reason is not the correct
explanation of the Assertion

31 a) Both the Assertion and the Reason are correct and the Reason is the correct
explanation of the Assertion

32 c) Assertion is true, but the Reason is false

33 a) Both the Assertion and the Reason are correct and the Reason is the correct
explanation of the Assertion

34 a) Both the Assertion and the Reason are correct and the Reason is the correct
explanation of the Assertion

35 b)Both the Assertion and the Reason are correct but the Reason is not the correct
explanation of the Assertion

36 c) Assertion is true, but the Reason is false

37 b) Always act on the different bodies in opposite directions

38 b) Conservation of momentum

39 (@)

Distance (m)—

Time (s)—>

40

®)

Position

Time




41 d)Apical meristem,intercalary meristem,lateral meristem
42 a)Tendon

43 a)smooth muscle

44 a)Parenchyma

45 a)simple squamous epithelium

46 d)epithelial tissue

47 b) Sol is a solid-liquid colloid and gel is liquid solid colloid
48 a)0 km

49 Velocity is shown at BC

50 Acceleration is shown at AB

51 Retardation is shown at CD

52 C) zero

53 c)digestion of food

54 b)chemical change

55 b)fractional distillation

56 b)black compound formed

57 a) they store starch, oil, proteins

58 b)chromoplast

59 c)plastids are present only in plant cell

60 b)chloroplast
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1. The Question Paper contains four sections.

2. Section A has 24 questions. Attempt any 20 questions.
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3 | PHYSICAL FEATURES OF INDIA(GEO) 1 1 6 1 09
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6 | THE STORY OF VILLAGE PALAMUR 3 4 - - 07
(ECONOMICS)
7 | PEOPLE AS RESOURCE (ECONOMICS 5 3 - - 08
TOTAL QUESTIONS 24 22 12 2 60




KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION
SAMPLE QUESTION PAPER 2021-22
TERM I CLASS IX SOCIAL SCIENCE - CODE 087

TIME-90 MINUTES Maximum Marks-40

General Instructions:-
1. The Question Paper contains four sections.
2. Section A has 24 questions. Attempt any 20 questions.
3. Section B has 22 questions. Attempt any 18 questions.
4. Section C has 12 questions (Case based). Attempt any 10 questions.
5. Section D contains 2 Map based questions. Attempt both the questions.
6. All questions carry equal marks.
7. There is no negative marking.
SECTION - A (Attempt any 20 out of 24 questions)
1. The French Revolution took place in
(a) 1859
(b) 1767
(c) 1789
(d) 1799

2. National Anthem of France is
(a) Vande Matram

(b) Roget de L'Isle

(c) Le Moniteur Universal

(d) Marseilles

3. Which of the following statements is untrue about the Third Estate
(a) The Third Estate was made of the poor only

(b) Within the Third Estate some were rich and some were poor

(c) Richer members of the Third Estate owned lands

(d) Peasants were obliged to serve in the army, or build roads

4. How does a ‘Subsistence Crisis’ happen?

(a) Bad harvest leads to scarcity of grains

(b) Food prices rise and the poorest cannot buy bread

(c) Leads to weaker bodies, diseases, deaths and even food riots
(d) All the above

5. The Southernmost point of the Indian mainland is
(a) Kavaratti

(b) Lakshadweep

(c) Kanyakumari

(d) Indira Point

6. India is the largest country in the world according to area.
(@) Fifth

(b) Sixth

(c) Seventh

(d) Eighth




7. How many states and Union Territories does India have?
(a) India has 26 States and 7 Union Territories
(b) India has 25 States and 7 Union Territories
(c) India has 28 States and 7 Union Territories
(d) India has 28 States and 8 Union Territories

8. The Northern Plains has been formed by the interplay of three major river systems, namely

(a) Yamuna-Mahanadi-Narmada
(b)Narmada-Chambal-Indus

(c) Indus-Beas-Sutlej

(d) The Indus-Ganga-Brahmaputra

9. is a form of government in which the rulers are elected by the people?
(a) Dictatorship

(b) Democracy

(c) Monarchy

(d) Non-Democratic Government

10. Form of government in which only those who are in power and their supporters are
benefited, and excludes minorities and weaker sections is called?

(a) Democracy

(b) Military rule

(c) Dictatorship

(d) None of these

11. The most common form that democracy takes in our time is that of
(a) Limited democracy

(b) representative democracy

(c) Direct democracy

(d) none of the above

12. Democracy improves the quality of decision-making because
(a) Decisions are taken only by consultation and discussion

(b) Decisions are taken by educated people

(c) Decisions are taken over a long period of time

(d) All decisions are made by judiciary

13. The Constituent Assembly adopted the Constitution of India on
(a) 26 January 1950

(b) 26 November 1949

(c) 26 January 1949

(d) 15 August 1947

14. The Indian Constitution came into effect on
(a) 26 January 1949

(b) 26 January 1950

(c) 26 January 1952

(d) 26 November 1950



15. The Constitution begins with a short statement of its basic values. What is it called?
(a) Preface

(b) Article

(c) Introduction

(d) Preamble

16. Which of the following days is celebrated to mark the enforcement of the constitution?
(a) Republic Day

(b) Independence Day

(c) Gandhi Jayanti

(d) Constitution Enforcement Day

17. What is the main production activity in Palampur village?
(a) Farming

(b) Industries

(c) Transport

(d) Small-scale manufacturing

18. Which of the following is a modern farming method?
(a) farm machinery like tractors, Tube well

(b) Use of HY'V seeds

(c) Use of chemical fertilisers

(d) all of these

19. The concept of White Revolution is associated with
(a) food crops

(b) milk

(c) cotton

(d) pesticides

20. Which of the following is included in the primary sector?
(a) Manufacturing

(b) Tourism

(c) Mining

(d) Communication

21. Investment in human capital can be made through
(a) Education

(b) Training

(c) Medical care

(d) All the three

22. Which of the following sectors faces the problem of seasonal unemployment?
(a) Agriculture

(b) Service sector

(c) Trade

(d) IT sector



23. What is the aim of Sarva Siksha Abhiyan?

(a) To provide elementary education to women

(b) To provide elementary education to the rural poor

(c) To provide elementary education to all children in the age group 6-14 years
(d) To provide elementary education to the urban poor

24. Which of the following is included in the secondary sector?
(@) Poultry farming

(b) Manufacturing

(c) Transport

(d) Quarrying
SECTION -B (Attempt any 18 out of 22 questions)

25. Assertion (A) : In 1805, Napoleon Bonaparte crowned himself Emperor of France.
Reason (R) : Initially, many saw him as a liberator who would bring freedom for the people.
(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais correct but R is wrong.

(d) A is wrong but R is correct.

26. Following Image is a very significant to the French Revolution. Identify the event

Yy

The above symbol convey the message of
(a) The Royal power

(b) The act of becoming free

(c) The strength lies in unity

(d) Eternity

27. A triangular slave trade took place between Europe, the Americas and
(a) Africa

(b) Asia

(c) Australia

(d) none of the above

28. Who among the following have written the book ‘The Social Contract’
(a) Madam Marya

(b) Charles Darwin

(c) Jean-Jacques Rousseau

(d) John Locke



29.Uttarakhand, Uttar Pradesh, Bihar, West Bengal and Sikkim have common frontiers with

(@) China

(b) Bhutan
(c) Nepal

(d) Myanmar

30. The Tropic of Capricorn passes through 8 Indian States.
(@) True
(b) False

31. India and Sri Lanka are separated by the Palk Strait.
(@) True
(b) False

32.The highest peak in the Eastern Ghat is
(a) Anaimudi

(b) Kanchunjunga

(c) Mahendragiri

(d) khasi

33.  Assertion (A) : In India, people elect their own representatives.
Reason (R) : India is a democracy.

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is NOT the correct explanation of A.

(c) Ais true but R is false.

(d) A is false but R is true.

34. What does a candidate need before contesting elections in China?
(a) Money

(b) Power

(c) Approval of the Chinese Communist Party

(d)None of these

35. Following cartoon was drawn on the celebration of 50 years of independence. Which one
of the following options best signifies this cartoon?
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(a) During the 50 years, the common man has seen different leaders and prime ministers.

(b) Common man does not care about the achievements of 50 years by Indians.

(c) Common man is tired of listening to the same repeated words by different leaders during

50 years.

(d) During 50 years no leader has achieved the goal which was set by the constitution makers.

Match the following:-( 4 X 1 =4)

(A) (B)
36. Motilal Nehru (a) President of the Constituent Assembly

37. B.R. Ambedkar (b) Member of the Constituent Assembly

38. Rajendra Prasad (c) Chairman of the Drafting Committee

39. Sarojini Naidu (d) Prepared a Constitution for India in 1928

Match the following:- (4x 1= 4)

(A) (B)

40. Small Farmers (a) Non-Farm Activities

41. Heavy Machines (b) Borrow money to arrange for the capital

42. Labour (c) One of the factors of production

43. Dairy (d) Fixed Capital

44. Which one from the following is the primary sector activities
(i) Forestry

(ii) Poultry farming

(iii) Animal husbandry

(iv) Manufacturing

@@
(b) (@), (i), (iii)
(c) (i), (iii), (iv)
(d) All the above

45. Study the following Health Infrastructure Table and answer correctly

2013 2014 2015 2016 2017
H SC/PHC/CHC 181,139 182,709 184,359 185,933 187.505
Q'. Dispensaries 29,274 29,715 29,957 30.044 3.1641
/‘ﬁfif and Hospitals
q
' ﬁ{{h » Beds (Govt.) 628,708 675,779 754,724 6,34,879 710,761
E&x Registered Doctor in | 45,106 33,536 20,422 25,282 17.982
/i Medical Council
'v_ Nursing Personnel 2,344,241 | 2,621,981 | 2,639,229 | 2,778,248 | 2,878,182
A\ (ANM+RN&RM+LHV)

Source:- National Health Policy, 2013, 2014, 2015, (National Health Profile, 2016, 2017, 2018,
Central Bureau of Health Intelligence, Ministry of Health and Family Welfare)




Statement- 1:- Nursing personnel numbers increased between 2013 and 2017
Statement-2:- Registered Doctor in Medical Council decreased in 2017 as compared to 2013
Choose the correct option from the above statements

a) Statement 1 alone correct

b) Statement 2 alone correct

c) Statement 1 and 2 are correct

d) Statement 1 and 2 are wrong

46. The workforce population includes people from 15 years to 59 years.
(@) True
(b) False

SECTION-C
(This section consists of two cases. There are total of 12 questions in this section. Attempt
any 10 questions from this section.)

Read the source given below and answer the questions by choosing the most appropriate
option:
French Revolution

The French Revolution was a period of time in France when the people overthrew the monarchy
and took control of the government. The French Revolution lasted 10 years from 1789 to 1799.
It began on July 14, 1789 when revolutionaries stormed a prison called the Bastille.Before the
French Revolution, in the 18th century the people of France were divided into social groups
called "Estates.” The First Estate included the clergy (church leaders), the Second Estate
included the nobles, and the Third Estate included the commoners. Most of the people were
members of the Third Estate. The Third Estate paid most of the taxes, while the nobility lived
lives of luxury and got all the high-ranking jobs. During the period of Revolution Louis XVI
was the king. Louis XVI belonged to the Bourbon Dynasty. During the Revolution he was
removed from power and revolutionaries created a constitution and declared the Rights of man
and Citizens. The Time Period of 1793-94 in French history is known as the Reign of Terror
because of Cruel rule of Robespierre. However, after 1999 Napoleon Bonaparte rose to power
and crowned himself as the emperor of France in 1804.

47. French Revolution started after

(a) Napoleon Bonaparte crowned himself as the emperor of France
(b) Death of Louis XVI

(c) revolutionaries stormed a prison called the Bastille

(d) None of these.

48. 18th century French society was divided into
(a) Two Estates

(b) Three Estates

(c) Four Estates

(d) Castes

49. Who was the King of France at the time of the Revolution?
(a) Louis XIV

(b) Louis XVI

(c) Marie Antoinette

(d) Nicholas 11



50. Louis XVI belonged to the Dynasty.
(a) Bourbon

(b) Adams

(c) Romanov

(d) Elizabeth

51. Which of the following Time Period is known as the Reign of Terror in French history?
(a) 1789-1790
(b) 1790-1791
(c) 1791-1792
(d) 1793-1794

52. When did Napoleon declare himself as the emperor of France?
(@) 1799
(b) 1804
(c) 1889
(d) 1895

Read the source given below and answer the questions by choosing the most appropriate
option:

The physical features of India can be grouped under the following 6 major physiographic
divisions: The Himalayan Mountains, The Northern Plains, Peninsular Plateau, The Great
Indian Desert, The Coastal Plains, The Islands

The Himalayan Mountains -The Himalayas are young-fold mountains which are the loftiest
and one of the most rugged mountain barriers of the world. The Himalayas are 2400 km long,
400 km to 150 km wide from Kashmir to Arunachal Pradesh respectively.

The Himalayas have three parallel ranges in the longitudinal extent (North to South) namely:
Great or Inner Himalayas also called Himadri, Middle Himalayas or Himachal, Outer
Himalayas or Shiwaliks.

The Himalayas can be divided into four sections from West to East:

Punjab Himalayas — between Indus and Satluj.

Kumaon Himalayas — between Satluj and Kali.

Nepal Himalayas — between Kali and the Tista.

Assam Himalayas (Eastern Himalayas) — Between Tista and the Brahmaputra.

53. Which of the following is not a major Physiographic Division in India
(a) Great Grassland

(b) The Northern Plains

(c) Peninsular Plateau

(d) The Great Indian Desert

54. Length of Himalayan Mountain Range
(a) 1800 KM

(b) 2400 MILE

(c) 1800 MILE

(d) 2400 KM



55. Himalayas are extended between Kashmir and

(a) Rajasthan

(b) Punjab

(c) Arunachal Pradesh
(d) Andhra Pradesh

56. Nepal Himalayas is Located between Which two rivers?
(a) between Indus and Satluj.

(b) between Satluj and Kali.

(c) between Kali and the Tista.

(d) Between Tista and the Brahmaputra

57. Outer Himalayas (southernmost) are also known as
(@) Shiwaliks.

(b) Himachal.

(c) Himadri.

(d) None of these

58. The Himalayas are known as

(a) Volcanic Mountains
(b) Block Mountains

(c) Young Fold Mountains
(d) Plateaus

Section D (Attempt both the Map based questions)

59. What is the name of the French City Marked in the Map
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(a) Bordeaux
(b) Nantes

(c) Paris

(d) Marseilles

60. Identify the name of shaded region in the given India map

(a) Chota Nagpur Plateau
(b) Malwa Plateau

(c) Central Highlands
(d) Deccan Plateau



KENDRIYA VIDYALAYA SANGATHAN, CHENNAI REGION
SAMPLE QUESTION PAPER 2021-22
TERM I CLASS IX SOCIAL SCIENCE - CODE 087
MARKING SCHEME
(All questions carries equal marks (0.8). Maximum :- 40 marks)

SECTION - A(Attempt any 20 out of 24 questions)
1. (c) 1789
2. (d) Marseilles
3. (a) The Third Estate was made of the poor only
4. (d) All the above
5. (¢) Kanyakumari
6. (c) Seventh
7. (d) India has 28 States and 8 Union Territories
8. (d) The Indus-Ganga-Brahmaputra
9. (b) Democracy
10. (c) Dictatorship
11. (b) Representative democracy
12. (a) Decisions are taken only by consultation and discussion
13. (b) 26 November 1949
14. (b) 26 January 1950
15. (d) Preamble
16.a) Republic Day
17. (a) Farming
18. (d) all of these
19. (b) milk
20.(c) Mining
21. (d) All the three
22. (a) Agriculture
23 (c) To provide elementary education to all children in the age group 6-14 years
24. (b) Manufacturing

SECTION-B

(Attempt any 18 out of 22 question2s)

25. (d) A'is wrong but R is correct.

26. (b) The act of becoming free.

27. (a) Africa

28. (c) Jean-Jacques Rousseau

29. (c) Nepal

30 (b) False

31. (a) True

32. (¢ ) Mahendragiri

33 (a) Both A and R are true and R is the correct explanation of A.
34. (c) Approval of the Chinese Communist Party

35. (c) Common man is tired of listening to the same repeated words by different leaders during 50
years.

Match the following

(A) (B)
36. Motilal Nehru (d) Prepared a Constitution for India in 1928
37. B.R. Ambedkar (c) Chairman of the Drafting Committee
38. Rajendra Prasad (a) President of the Constituent Assembly
39. Sarojini Naidu (b) Member of the Constituent Assembly




Match the following

(A) (B)
40. Small Farmers (b) Borrow money to arrange for the capital
41. Heavy Machines (d) Fixed Capital
42. Labour (c) One of the factors of production
43. Dairy (a) Non-Farm Activities

44. b) (), (ii), (iii)
45. (c) Statement 1 and 2 are correct
46. (a) True

SECTION-C

47. (c) Revolutionaries stormed a prison called the Bastille
48. (b) Three Estates

49. (b) Louis XVI

50. (a) Bourbon

51. (d) 1793-1794

52. (b) 1804

53. (a) Great Grassland

54. (d) 2400 KM

55. (c) Arunachal Pradesh

56. (c) between Kali and the Tista.

57. (a) Shiwaliks.

58. (c) Young Fold Mountains

Section D (Attempt both the Map based questions)
59 (c) Paris

60. (d) Deccan Plateau
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